


* = Ax + B8 + B,[u, w,]",where

[ —-0.045 0.036 0
-0.370 -2.02 1.76
0.191 -3.96

0 0 1

Nominal flight condition
h=0; M=0.158; VTo =176 ft/s

W=2750 Ib
CG at 29.5% MAC
1= 1048 slug ff?
1, = 3000 slug f#*
1,= 3530 slug

Reference geometry
s=184 112

c=57ft
b=3341t

|

h=—w+1760. i =u.

—2.98

B, =

~0.322
0
0
0
0.045 —0.036
0370 202
~0.191  3.96
0 0

x
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X = AX + BU

Y =CX

X=[u w q &6 h]

u ) <u, =12

J= J'O(n (x"Qx+u'Ru)dt

Y=[u w h]
U =[o, 5]
-0.045 0036 0 -0322 O
-0.370 -2.02 1.76 0 0
0.191 -3.96 -2.98 0 0
0 0 1 0 0
0 -1 0 176 O
10000
01000
0 0001
u(t) = —Kx(k)
u)=u(k) kT<t< k 1k

0 1

-0.282 0
-11  a,0

0 0

0 0
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Matlab lgr
Q R
r u X C y
O R > —>
/ X = AX + BU
K <
1
5 Q R
Q R
Riccati Q R
5. Q R
1 Q R Q R
Q R
2 Q R
3 Q Q
4 R 2x2 Q 5%5
52 R
R Q R=p1 p 001 01 1 10 100
2
5 ,B 001 01 1 10 100 R
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select of R

045
D -
05+ 4 -
-0.3 L -1 L
10 5 10 0 5 10
2
R R=p81 B 001 01 1 10 100

3

B 001l 01 1 10

100
400
100

1000

100




select of Q - -Fégrg
8 . g . 25 : 0.8 : 0250 = -

0.2

0.1

0.05

-0.05

01k

-0.2

_( —0.0096 0.3762  -3.6648 -16.4975 -3.1624
~1101.0035 -251.2916 65.2910 694.5870 299.9987

4 5 6
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7.1 RSelection.m R
% select of matric R
clear;
clf;
a=[-0.045 0.036 0 -0.322 0
-0.370-2.021.76 00
0.191-3.96-2.9800
00100
0-101.76 0];
b=[0 1; -2.82 0;-11 0;0 0;0 0];
c=[10000
01000
00001];
d=[00
00
00];
R=[1e-2 1e-11 10100 J;
Q=eye(5);
[r,ni]=size(b);




[no,cs]=size(c);
for i=1:5;
ifi==
title('select of RY;
end
q=R(i);
[gain,S,E]=Igr(a,b,Q,q*eye(ni));
ac=a-b*gain;
Ge=ss(ac,b,c,d);
t=0:0.1:10;
y=step(Gc,t);
subplot(1,5,i);
plot(t,y(:,1:3));
end;
legend(' ;
a) QSelection.m Q
% select of matric Q
clf;
a=[-0.045 0.036 0 -0.322 0
-0.370-2.021.76 00
0.191-3.96-29800
00100
0-101.76 0];
b=[0 1; -2.82 0;-11 0;0 0;0 0];
c=[10000
01000
00001];
d=[00
00
0 0];
Q=[1e-2 1e-1 1 10 100];
R=[10 0;0 0.01];
[r,ni]=size(b);
[no,cs]=size(c);
for i=1:5;
if i==
title('select of Q);
end
q=Q(i);
[gain,S,E]=Igr(a,b,g*eye(size(a)),R*eye(ni));
ac=a-b*gain;
Gce=ss(ac,b,c,d);
t=0:0.1:10;
y=step(Gc,t);



subplot(1,5,i);
plot(t,y(:,1:3));
end;
legend( B!

b) DesignOfController.m
%1 Summary of this function goes here

% Detailed explanation goes here
clf;
a=[-0.0450.036 0-0.322 0

-0.370-2.021.76 00

0.191-3.96-2.9800

00100

0-101.76 0];
b=[0 1; -2.82 0;-11 0;0 0;0 0];
Q=[1000000

0400000

0010000

00000

0000 1000];
R=[10 0;0 0.01];
[K,S,E]=lgr(a,b,Q,R);
K
ap=[a-b*K];
bp=b;
c=[10000

01000

00001];
d=[00

00
00];

[ap,bp,cp,dp]=augstate(ap,bp,c,d);
cp=[cp;-KI;
[i.,j]=size(K);[ri,li]=size(dp);
dp=[dp;zeros(i,li)];
G=ss(ap,bp,cp,dp);
[y.t]=step(G);
figure(2);
plot(t,y(:,1:3));title(" ;
legend(’ ;
figure(2);
plot(t,y(:,4:8));title(" ;
legend(’ g,q
figure(3);



plot(t,y(;,9:10)) title(

legend(' (ud),
8

[1]

[2]

[3]

(u2));
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